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[1] +�� �

[2] ' , 
����

[3] � - �	 .
 �� �

[4] / � �0 ' 
��

  
��� Who propounded the 'Need 

Hierarchy Theory' of Motivation ? 

[1] Hull  

[2] Maslow 

[3] Atkinson  

[4] Thomson�

��� ����������� '��� 
�� 	�,�1
2� 3%�4�5� � "�	���
	2������ �2���� 6�� � +2�� +2�� +2�� +2� ��+,�*�
�

[1] �� 7�1
� +�%� � �

[2] � �4 % �8 � �� �

[3] � # �� � ���� � �

[4] 
 '�9 �' ���

  
��� Which of the following is not a 

projective technique of personality 

assessment ? 

[1] Word-association 

[2] Sentence completion 

[3] Expressive movement 

[4] Sociometry�

��� ����������� '��� 
�� 	�,�1
�� �	 � ��:�
"�������	 � � +2�� +2�� +2�� +2� ��+,�*�
[1] - ; �0 < 2 �	 � ���� �� �� � ��� �� 
�6��� � 	 � � ��
[2] � � �� � 	 � �� �� �� �, 	 � 2 �	 �� ��
[3] " � 5'
 � � � =-� +� � � 
' �9
 � �� �	 �� ��
[4] � 	 � �� � 2� �� � �� � � 	 �'  > ���� �� �

  
��� Which of the following is not an 

extrinsic motive ? 

[1] Competing in sport for trophy 

[2] Doing job for salary 

[3] Doing social service for self-

satisfaction 

[4] Buy one get one free�

!�� ���
���	� ".�����6�� �� 2��#� � � �?��/��%���� 	�� @@@@@�
' ���� +� �  � ��%� � �� '� � � �� �� 9� �� � +, � !�

[1] �  �( � �

[2] " � � ���' �� �

[3] " � � �� A� � �� �

[4] 3 %�4 � 5� �

  
!�� Thematic Apperception Test is used 

to measure the ……….. of students. 

[1] Intelligence  

[2] Aptitude 

[3] Attitude  

[4] Personality�
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[1] % +� " 
� �  �� �� 5�.� �	 � � �� +, !�

[2] % +� ��� �
/ � �� � 	 2 � ' �B ��� �� 	 � � "� C��
9 2� �� 	 �� � �2 	 �� 	 ��� � � ��� � 	 � � ����
�� � �� � �	 � � �� +,! �

[3] % +� �� �� �� # �� 	 2� � 
/ �� �% �� � � ' � � � � ��D � 2%�
��� � �� � �� �� � �	 2 � ��'� �� � � �� �+, !�

[4] 
 '�% �� 9 �� 	 � � " � � �� � '�� � 3%� 4� � �� �� �
" � , �� �� � �� �
 � �� E�� �� � +�� �+, !�

  
"�� Which of the following statement is 

not correct with reference to 

adjustment ? 

[1] It creates imbalance. 

[2] It motivates to change the life as 

per the demand of the situation. 

[3] It gives ability to bring desirable 

changes in the conditions of 

environment. 

[4] In the absence of adjustment one 

is surrounded by tension and 

anxiety.�

#�� ��%�9�� 	�� 
�F ���5'	� �� 	�
� �
(���� 	 ��
"� 
����	 
���	�
�5'	� "�
/���'�� �$��-�� �
	2���'��)���	 �
��+���2�+, �*�
�
[1] 
 � �� � 21�� ��2% � �
[2] �8 � � 1
 � �& % �5' 	�
[3] ' 8 �� 1
� � & %� 5' 	� �
[4] " � , �� ��� 	 1
� � & %� 5' 	�

  
#�� According to Piaget's cognitive 

development theory, the 'ability of 

reversibility' develops during which 

developmental stage ? 

[1] Sensory motor 

[2] Pre-operational  

[3] Concrete-operational  

[4] Formal-operational�

$�� ����������� '�� � 
� � 	�,�1
�� �'���� 
 +2� � +2�� +2�� +2�� +2� �
+,�*�

�� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1��� �4 
� � 	 � �' �� � 1�

� '� �9	
� '� �9	
� '� �9	
� '� �9	 ���� �� 	 � 
� 	 2��� 	 � 
� 	 2��� 	 � 
� 	 2��� 	 � 
� 	 2�

" � 
/ ��� B" � 
/ ��� B" � 
/ ��� B" � 
/ ��� B ����

" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��" � 
/ ��" � � � �	 ��
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[1] �+� � � �� '� " ��� 6��
� �� 6��

[2] �+� ��� � �� '� � �8 �' 	 ��

� � � � �� �� 

[3] 
� �%� � �� � � �� '�
�G9� � �� � ��� � 	 ��

[4] " 6% �
� %� � �� '�
+2� ���

1� � 2
� 2 �" � 
/ �� �
�
1� ��B � �2 �� " � 
/ ���
�
1� � +� 2� " �
/ � ��
�
1���,/�2� "� 
/ �� �

�

  
$�� Which of the following match is not 

correct ? 

Erikson's Stages of 

Psycho-social 

Development 

Serial 

Number of 

Stages 

[1] Initiative Vs Guilt 

�
[2] Identity Vs Role 

Confusion 

[3] Autonomy Vs 

Shame and Doubt�
[4] Industry Vs 

Inferiority�

� 1�Stage 3�
�
� 1�Stage 5�
�
� 1�Stage 1�
�
� 1�Stage 4�

�
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[1] � �+�� ' � � �

[2] � �� � � �� �

[3] 
� �� �" � �8 � �� � �

[4] � �� � ���

  
�� Which of the following elements is 

not related to Skinner's operant 

conditioning theory ? 

[1] Extinction 

[2] Discrimination 

[3] Spontaneous recovery 

[4] Reinforcement�

%�� ����������� '��� 
�� 	�,�1
�� 	 /��� "����A����

	��
������'���
 +2� �+2��+2��+2��+2� ��+,�* �

[1] "����A���� '��� "�������#��5'	 1�������� 5���	�

����� =���� ��H� �9��2� +,!�

[2] "����A���� �8#�� ��� 
	���5'	� 
�� �8#�� ���

�	���5'	 �+���
	�2 �+,!�

[3] "����A���� '��� 3%�4�1� 
� � 
���6�� ��%� �

9����+, !�

[4] "����A���� 9.'9��� ���� "�9��� ����� ���

+���2� +,!�

  %�� Which of the following statement is 

not correct with reference to Attitude ? 

[1] Attitude has motivational-

affective characteristics. 

[2] Attitude can range strongly 

positive to strongly negative. 

[3] Attitude have a subject-object 

relationship. 

[4] Attitude is innate and acquired 

both.�

�&�� ����������� '��� 
�� 	�,�1
� � 	/��� �I����� 	��

��	�
�	�������'��� 
 +2
 +2
 +2
 +2 ��+,� *�

�

[1] � �	 � 
� ' �� � " �� �� � ��	 � �� 	 � � � 	�

� 5��� � +, ! �

[2] � �	 � 
� � 	 � % �� A �I D 	 � �� �C�� " �  
� #� �

	 � � �� +,! �

[3] � �	 � 
� �	 �
 � �%2 � �� � & %� �+,!�

 

[4] � �	 � 
� 	 � � �� �� �.�� " �% �' � " .� 
� � �� � 6���

� +2 � �+, � !�

  �&�� Which of the following statement is 

correct about the development of 

children ? 

[1] Development is a product of 

only hereditary. 

[2] Development follows a random 

pattern. 

[3] Development is a cumulative 

process. 

[4] Different aspects of development 

are not interrelated.�
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[1] � , %� 4� 	 � ��� �7� 	 � �� 2 �� # �� 	 ��
[2] 
 �'8 � +	 ��� ��7 �	 � �� 2��# � �	 ��
[3] " ��� �7� 	 � ��2 ��# �� 	 � �
[4] �� ��7� 	 � � �� � " ��� �7� 	 � �� 2 ��# �� 	 ��

  ���� Cattell's culture free test of 

intelligence is a type of : 

[1] Individual Verbal Test 

[2] Group Verbal Test 

[3] Non-Verbal Test 

[4] Verbal and Non-Verbal Test �

���� ����������� '��� 
�� 	 �,�1
2� 
A9��5'	��� 	2�
����� =���� �+2��+2��+2��+2� ��+,�* �

[1] ' �, � �	 � �� [2] � �� ��� 2�� ��

[3] " � �%� �� [4] 6 ��� ��� � �� +� � �

  
���� Which of the following is not a 

characteristic of creativity ? 

[1] Originality [2] Flexibility 

[3] Rigidity [4] Fluency�

���� ����������� '��� 
�� 	 �,� 1
�� 	��	 � �����#�1�
"�6��'� ���&%��	��� ������� �� �+2��+2��+2��+2� �	����+,�* �

[1] � ����	 � 	 � �� ����# � �	 �, ��� � �

[2] � ����	 � 	 � �' �� �
	 �
� �
/ %�

[3] � ����	 � 	 � �� �= �% �F ���

[4] � ����	 � 	 � ��� �� 2� �	 �C��

  
���� Which of the following factors does not 

affect the teaching-learning process ? 

[1] Teaching skill of teacher 

[2] Mental health of teacher   

[3] Subject knowledge of teacher 

[4] Physical appearance of teacher�

�!�� �A�(� �I����� '�� � �	
� ��	 ��� 	 �� ���� ���� ���2�
+,�*�

[1] 
 � �� �� 5'	 � �

[2] �� 	 �% �� 5 '	�

[3] 
 � �� �� 5'	 � � �� � ��	 �% �� 5 '	� � �� �� � ��

[4] H � '� � � 
� �	 �� H � ��+2� �

  
�!�� What kind of changes does growth 

bring about in children ? 

[1] Structural 

[2] Functional 

[3] Structural and functional both 

[4] None of these�

�"�� $5��#�)� �	
� ��	��� 	 �� �����=-� �I����� 	 2�
�������	 �������	�'+�� �8#�� �%��9���+, �*�
�
[1] �� �� � �� �� �� 2� �
[2] 6� 2' � �" � 6��'	 � ���
[3] " � 6��'� " 
' / ����
[4] ' � �� �  �(�

  
�"�� 'Acceleration' is an important plan 

for education of which type of 

special children ? 

[1] Gifted 

[2] Slow learner 

[3] Learning disabled 

[4] Mentally retarded�
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[1] � �� �� �� " � �� � ��

[2] ��� � �� � ��2� �" � � � ���

[3] � �� �� �� " � ��� �

[4] 
 �� �

  
�#�� What type of reinforcement schedule 

is to reinforce each correct response of 

the learner, in operant conditioning ? 

[1] Fixed interval 

[2] Variable interval 

[3] Fixed ratio 

[4] Continuous�

�$�� $��	 �
� 9��� "� �,E%� � "��� L�
�� 
� � �,�M� 	2�
���� ��'���"�����NO�� �+,)K�	+�����+,� ��
�

[1] � 
< , � �	 1	 �0 P ���

[2] �� �0 � 4
 '� �� P
- ��

[3] 
 ��� �� �

[4] � A � �2 %�

  �$�� 'Development proceeds in the 

direction of longitudinal axis (head 

to foot)', called : 

[1] Cephalic-Caudal 

[2] Proximodistal 

[3] Spiral 

[4] Circular�

�
�� �	� ��	��� 	�� � �(� ��2��#�� 9+�B� �� �� �
	�Q��H�� 
��� 	 2� �A�=-� 
� � 
'��� +�� ��� +,�K�
�	.� � 
'%� �5�� 	��� "� 6�	� '+��� ��%��
9����+, ���

[1] ��� ��� 2 �� # �� �

[2] �� �4 �� �� 2 ��# � �

[3] �� ��7� 	 � �� 2��# � ��

[4] � �=��� � ��� 2��# � �

  �
�� A type of intelligence test in which 

the questions are similar in difficulty 

level but more importance is given to 

the time element : 

[1] Speed Test 

[2] Power Test 

[3] Verbal Test 

[4] Performance Test�

�%�� ����������� '��� 
�� 	�,�1
2� 3%�4�5� � "��	���
	2�3%�4���=Q�� ��6�� � +2�� +2�� +2�� +2� �+,�*�
�

[1] 
 ���� 5	 � �� �

[2] " � �� � 	 ��

[3] " � 5'	 / ��� �

[4] �� 7�� 
� +� %� �

  �%�� Which of the following is not a 

subjective method of personality 

assessment ? 

[1] Interview 

[2] Observation�

[3] Autobiography 

[4] Word Association�
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[1] " .� � , �% �4 � 	 � �� �.� �� " �� �� 	 ��

[2] " .� �� , %� 4� 	 � �� � .�� �" �� � �	� �

[3] " � �� � 	 �2 %� �� � .�� �" �� � � 	��

[4] " �� ��� �� �� � .�� �" �� � �	 ��

  �&�� Meenal is average in intelligence, 

low in creativity and high level in 

adjustment. This is an example of : 

[1] Inter Individual Differences 

[2] Intra Individual Differences 

[3] Observable Differences 

[4] Expected Differences�

���� ��8��� ��� ���	���� 	�� 
�F���5'	� ��	�
� +� �  �
�	
� ��	��� 	�� ��QR%& '� 	�� "� �'�� 	��

 S�����%��* �

[1] 
 '�� � ��2 ���QR%&'�

[2] � �� ��=- ���QR%&'�

[3] 
 ��� �� ��QR%&'�

[4] � 	 2J �� ��QR%&'�

  ���� Which type of curriculum did Bruner 

suggest to follow for the cognitive 

development of children ? 

[1] Inclusive curriculum 

[2] Special curriculum 

[3] Spiral curriculum 

[4] Integrated curriculum�

���� ��	�
� 	�� 
�'��9	1
��
J ��	 � �
(���� 	 ���
�	
�����	 �
���	%��* �

[1] � �% �� � 5
	 2 � �

[2] � �� 4 
� �

[3] 	 � � +R� ��� � �

[4] � � �0 � <� �� � � ���

  
���� Who developed the Socio-cultural 

theory of development ? 

[1] Vygotsky  

[2] Erikson 

[3] Kohlberg  

[4] Bronfenbrenner�

���� �+� '��� ����� 4%�� 	 +���2� +,K� �9
	�� T����
���	 � "���� 
�%�� 	�� "+'R � 	 ��� �	
2� ".%�
3%�4�� 	�� "� C�� �� ����� �� 	���� 	�� ��%�
�
	����+,� * �

[1] � �� �5 '2	 �# �� �

[2] %  �4 �	 �# � �

[3] ' ���� .� 2	 � # �� �

[4] �� ��� �# ��

  
���� What is the mechanism called, 

through which a child tries to  

change his own ego to that of 

someone else ? 

[1] Identification   

[2] Rationalization 

[3] Sublimation   

[4] Projection�
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[1] 
 � �& % �� [2] 
 � F � ��

[3] � �= �%� 
�  � [4] � 5��� �

  
�!�� Which of the following component 

is not the part of Guilford structure 

of Intellect model ? 

[1] Operation [2] Cognition 

[3] Content [4] Product�

�"�� � �(� 	�� �����2%� �
(���� 	�� ��������� �	
� ��
�	%��* �

[1] ��P � �� � [2] � �� < �� P ��

[3] 
- �� � �� � [4] � � � ��

  
�"�� Who propounded the Triarchic 

theory of Intelligence ?  

[1] Gardner [2] Guilford 

[3] Sternberg [4] Vernan�

�#�� ���0�<�������� 	�� 9,�1���� �
/���	2� '�0P��
�
(���� '�� � $��� ���� ��� � ��?��%)� �	 
�
�%����#�2%�����	���� �+�#�� +,��* �
�

[1] ' , & ��� 

- '� �

[2] ' �H & �� � 

- '�

[3] � 4 9O �� � 

-' � �

[4] & � � '�� �

- '�

  
�#�� 'Family and School' are the examples 

of which environmental system in 

Bronfenbrenner's Bio-ecological 

Model theory ? 

[1] Macro system  

[2] Micro system 

[3] Exosystem  

[4] Chromosystem�

�$�� ����������� '�� � 
� � 	�,�1
�� % U'� 
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�
 (� � � � ��
 (� � � � ��
 (� � � � ��
 (� � � � �
�� �� ��� 	�� �� ��� 	�� �� ��� 	�� �� ��� 	 ����

� 
( �� �� 
( �� �� 
( �� �� 
( �� � ����

[1] ��% �9� �
 

[2] � �P  � ��
 

[3] � �� 4
 ��
 

[4] � �% ��� 5 
	 2�

–� 
� F �� �5'	 � � �	 �
�
�
 ( �� ��

–� 
� '� �9	 � " �6��'�
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– '� �� 
 �'� �9	 � � �	 �
�
�
 ( �� ��
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(�� � �
�

  
�$�� Which of the following pair is not 

correct ? 

Theory 

Propounder 

Theory 

[1] Piaget 

 

[2] Bandura 

 

[3] Erikson 

 

[4] Vygotsky 

– Cognitive 

Development Theory 

– Social Learning

Theory 

– Psycho-socio 

Development Theory 

– Moral Development

Theory 
�
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[1] " ��2 � �� '� �" �� � � � �� � 
2 '�"� � � � 	 � � � �� � � '�� �

9 ��V 	 � ��

[2] 
� %� � � �� � � 8 
� �� � � 	 �� 
�' �� �	 �� ��

[3] 
 � � �� �� " �	 �� ��� �B�

[4] 3 %� +� � �' � � �" � �%� ��

  
�
�� Which of the following is not the 

characteristic of a well-adjusted person ? 

[1] Awareness of his own potentials 

and limitations 

[2] Respecting himself and others 

[3] Balanced aspirations 

[4] Rigidity in behaviour�

�%�� $$'���
	� 
��
/%� 
� �8#��� 3%�4�5 �� 	 �� �8#���

"�,�� 
�'�9
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	 2 �% +���� � �� =�� �� 	 
	 � �T �� �� � 2� �H � � +, � * �

�

[1] ' � �� � �� � �

[2] +, P< 2� P�

[3] P � ; � ��� �

[4] � �0 � � -��

  
�%�� "Mental health is the full and 

harmonious functioning of the whole 

personality." This definition of 

mental health is given by whom ? 

[1] Menninger  

[2] Hadfield 

[3] Drever  

[4] Waltin�

�&�� ����������� '����,F ���	��� � '��� 
�� 	�,��

��
-��-����
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[1] 	 � � +� � � �

[2] 	 � � > 	 ��

[3] & � �� '� � �

[4] � � 2� '� �

  
�&�� Out of the following Psychologists, 

who is not related with Gestaltism ? 

[1] Kohler  

[2] Koffka 

[3] Kretschmer  

[4] Wertheimer�
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[1] "%��
��

[2] ##� ��

[3] !�-�	(�

[4] ���� ��

 ��� 9! �!�:���@
�+�����-�.!��!+�!��-�D�

[1] �+�4�� (�!+�!�

[2] 6	6�!+�!�

[3] �;((����
�!+�!�

[4] ��%�=��H�%N���!+�!�

  �� ��!���@
�+��� 9��=:���!������ ��(���������������������
�%����-�D�

[1] ��%�� �

[2] ��%�+�

[3] ��%O� �

[4] ��%�+��

 !�� �
!��� 4
��� ��� ��(���� ���� ��@
���� +��� ������
�-�D��

[1] �H!+���@
����+���

[2] 
�������@
����+���

[3] �
=��
���@
����+���

[4] ��(%�J��!������@
����+���
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���� Select the appropriate one word 

substitution for the following : 

Former students of a school or college 

[1] Emblem [2] Alumni 

[3] Expert [4] Incharge�

���� Change the Narration : 

 "I'm taking the children to the 

zoo tomorrow." She said. 

[1] She  told that she would be 

taking the children to the zoo the 

day after 

[2] She said that she will take the 

children to the zoo the next day 

[3] She told that she will be taking 

the children to the zoo 

[4] She will take the children to the 

zoo, she said�

���� Choose the correct synonym of : 

 Genius 

[1] Happy 

[2] Cheerful 

[3] Talented 

[4] Comfort�

���� Select the appropriate preposition for 

the blank : 

He has not yet recovered ………. his 

illness. 

[1] over [2] in 

[3] at [4] from�

� �� Choose the option that brings out the 

meaning of the underline idiom : 

A lion's share of India's annual 

budget is for defence. 

[1] major share 

[2] minor amount 

[3] small 

[4] very little�

���� Select the correct antonym of : 

 Gloomy 

[1] Praise [2] Coarse 

[3] Cheerful [4] Dismal�

���� Choose the appropriate conjunction 

for the blank : 

I shall not go ………. I am invited. 

[1] and [2] unless 

[3] but [4] there�

���� Change the narration to Reported 

Speech. Choose the right option : 

 "Who has been using my 

typewriter ?" Said Mother. 

[1] Mother asked who has been 

using her typewriter 

[2] Mother said who was using her 

typewriter 

[3] Mother asked who had been 

using her typewriter 

[4] Mother asked her typewriter was 

being used by who�
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���� Select the correct meaning of the 

underlined phrasal verb : 

Who can say what will turn up next ? 

[1] remember 

[2] divide 

[3] end 

[4] happen�

���� Choose the part of sentence that has 

error : 

she does not / resemble to / either of /  

 A B C 

her parents 

        D 

[1] A [2] B 

[3] C [4] D�

���� Select the correct tense form from the 
options given :  

When I first (come) to this house, it 

(be) a very quiet   area : 

[1] comes, is  

[2] came, was 

[3] coming, is  

[4] come, are�

���� Select the correct tense form from the 
options given : 

Peter (try) to come in quietly but his 
mother (hear) him. 

[1] tried, heard 

[2] trying, hears 

[3] was trying, was hearing 

[4] is trying, hears�

���� Change the voice from Active to 

Passive and select the correct option : 

 Bees make honey 

[1] Honey is make by bees 

[2] Bees are making honey 

[3] Honey are made by bees 

[4] Honey is made by bees�

���� Change the voice and select the 
correct option : 

 Somebody has put out the light. 

[1] The light has put out by 

somebody 

[2] The light has been put out by 
somebody 

[3] Somebody has been out to put 

light 

[4] The light is being put out by 

somebody�

� �� Select the correct preposition for the 

blank : 

 I shall do it …..…. pleasure. 

[1] in 

[2] with 

[3] about 

[4] over�
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����������������������������������������������� ���!"���������#$�%�����������������&���#�'��&���#�'��&���#�'��&���#�'��������(!�')���*����
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&��� �+�� ,��%� !-��.� ��� ��&�
�� 	��� ��� /0�
#�.�,��%�!�/��������&�
��/�������

[1] 1��%���� �

[2] ��%����

[3] �23����� �

[4] 
�)%.����

  
&��� Earth is related to Axis in the same 

way as wheel is related to : 

[1] Tyre  

[2] Car�

[3] Road  

[4] Hub�

&��� 	�������,���������!�%'���%����/)���/��
44�/� ��%�� �!��� ��� �!����.� !���.���� !���
/055*�,������	�����������,��%���&��
���
/0�6�

[1] ���7�  

[2] +.+��

[3] ���.+�  

[4] !)��

  
&��� Anil introduces Prashant, "He is the 

husband of the grand daughter of the 

father of my father". How is 

Prashant related to Anil ? 

[1] Brother  

[2] Brother in law�

[3] Nephew  

[4] Son�

&'�� 	��%���� ��� '�%� ��8/� �.'�� ����� +�� %/�� /0��
#�������� �.�� ���.� �������� ���+0���/0�*�
���7����	���/0��#�������������������������������9�:�1����
�

[1] STUA� �

[2] RQPA 

[3] MLKA� �

[4] HGFA 

  
&'�� Four groups of letters are given 

below, three of them are alike in 

certain way while one is different, 

choose the odd one :�

[1] STUA� �

[2] RQPA 

[3] MLKA� �

[4] HGFA�
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&(�� ����� ���� ;�-� ���� ��� 	���� !�� ����

�.�+����

LXF,  MTJ,  NPN,  OLR,   …….. 

[1] PHV  

[2] PIU�

[3] PJW  

[4] PKX�

  &(�� Find the next term in the following 

letter series :�

LXF,  MTJ,  NPN,  OLR,   …….. 

[1] PHV  

[2] PIU�

[3] PJW  

[4] PKX�

&��� ���.� ����'�� �81� ���� '786' ��� 	����

'Study very hard'��'958' ���	����'Hard 

work pays'��'645' ���	����'Study and 

work'������'very'�������2�<���/�����6�

[1] 8  

[2] 6�

[3] 7  

[4] 5�

  
&��� In a certain code '786' means 'Study 

very hard'��'958' means 'Hard work 

pays', '645' means 'Study and work', 

which is the code for 'very' ?�

[1] 8  

[2] 6�

[3] 7  

[4] 5�

&&�� ����A, B����40� �.1%�����=�-!��'������

/����C, B����40� �.1%�����=�-!8��� ����/����

��� C, A������������������/�����6�

[1] !8��  

[2] !��'��

[3] #$�%-!8��  

[4] ����=��

  
&&�� If A is 40 meter South-West of B, C 

is 40 meter South-East of B, then C 

is in which direction of A ?�

[1] East  

[2] West�

[3] North-East  

[4] South�



� ���)��� ������

��	�
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&)�� 150� ��>����������?�%��!"�@��	�0���	���35�
���*� ���� 7����� ��� #$�.=��� ��>���������� ���
	�0��� ,�@����� 39� /��� ����� 	�)$�.=���
��>���������� ��� 	�0��� ,�@����� 15� /���� ����
!%.���� ���� #$�.=��� /����� ����� ��>���������� �.�
�� ��������.�+��� 

[1] 120 [2] 125�

[3] 135 [4] 140�

  
&)�� The average marks obtained by 150 

candidates was 35. If the average 

marks of passed candidates was 39 

and that of the failed candidate was 

15, find the number of candidates 

who passed the examination : 

[1] 120 [2] 125�

[3] 135 [4] 140�

&��� ���� cbba
yx

== , �	�0%� ac
z

= ,� ����
xyz �������<���/�����6�

[1] abc [2] 1 

[3] 
abc

1
 [4] ab 

  
&��� If cbba

yx
== , �and� ac

z
= �� then 

what is the value of xyz ?�

[1] abc [2] 1 

[3] 
abc

1
 [4] ab����

&*�� �/� 9��1.� ��� 9��1.� !8=��� ���� �� ��� ����
�.�+��+���4, 5, 6, 15 �����18 ���!8=�����
������+��/�����

[1] 800� [2] 225�

[3] 900� [4] 361�

  &*�� Find the smallest perfect square 

number which is exactly divisible by 

4, 5, 6, 15 and 18 : 

[1] 800� [2] 225�

[3] 900� [4] 361 

)+�� ( ) ( ) 2/32/5
55

−−
× �������<���/�����6�

�

[1] 
25

1   

[2] 
125

1
 

[3] 
325

1   

[4] 
625

1
 

  
)+�� What is the value of 

                        ( ) ( ) 2/32/5
55

−−
×  ?�

[1] 
25

1   

[2] 
125

1
 

[3] 
325

1   

[4] 
625

1 �



������ �������

��	�
��
���� � �

)��� ���7��
���'A�-�B�C��+��.��%����15��D���
�����)�)���/���+����/0�������������D���E������/�
#�.�C��+��.��%����8��)���/���+������6�
 

[1] 30 �D��  

[2] 40��D���

[3] 60��D��  

[4] 45��D���

  )��� A sum of money doubles itself in 15 

years at compound interest. In how 

many years it will become 8 times at 

the same compound interest rate ? 

[1] 30 years  

[2] 40�years�

[3] 60�years  

[4] 45�years�

)��� ����25�	���.� ���.�F�������60� �������
������1������/0�������10�	���.�#�.�F���
�����������������������1��������6 

[1] 125����  

[2] 92���� �

[3] 100����  

[4] 150���� �

  
)��� If 25 men can reap a crop in 60 days, 

then in how many days will 10 men 

reap the crop ? 

[1] 125�days  

[2] 92�days�

[3] 100�days  

[4] 150�days�

)'�� ���� 5
1

=+
x

x �/��������
3

3 1

x
x + ��������

<���/�����6�
�

[1] 125 [2] 110�

[3] 115 [4] 105�

  
)'�� If 5

1
=+

x
x ,�then what is the value 

of 
3

3 1

x
x +  ?�

[1] 125 [2] 110�

[3] 115 [4] 105�

)(�� ����� 	��� ;�-� ���� ��� 	���� !�� <����
/�����6�

2,  7,  24,  77,  238, ……..�

[1] 721 [2] 722�

[3] 723 [4] 733�

  )(�� Find the next term in the following 

number series : 

2,  7,  24,  77,  238, …….. 

[1] 721 [2] 722�

[3] 723 [4] 733�



� ���*��� ������
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���� � ���������

)��� ........82828 +++ ���� ���� ����
�.�+��� 

[1] 8 [2] 10�

[3] 11 [4] 4�

  
)��� Find the value of : 

........82828 +++  

[1] 8 [2] 10�

[3] 11 [4] 4�

)&�� ���������.�!"
������)+������50% �.��-�B�
/���+���������7��������F���.�,�������-�B�
�����.�+����

[1] 50%  

[2] 100%�

[3] 125%  

[4] 150%�

  
)&�� If each side of the square be 

increased by 50%, then find the 

percentage increase in the area :�

[1] 50%  

[2] 100%�

[3] 125%  

[4] 150%�

))�� ����− ���	��� ×��+ ���	��� ÷,�÷ ���	��� +��
× ���	��� − /0������15 − 5 ÷ 5 × 20 + 10 

�������<���/�����6�

[1] 70  

[2] 78�

[3] 75  

[4] 73�

  
))�� If × stands for −��÷ stands for�+,�+ stands 

for ÷,�− stands for�×, then what is 

the value of 15 − 5 ÷ 5 × 20 + 10 ?�

[1] 70  

[2] 78�

[3] 75  

[4] 73�

)��� ���.��G�)�����72,000 H!�������&�'���!%�
���.�I��<������20% ��������/�����/0������
#���G�)����A���8(��<�������6�
�

[1] 60,000 HJ  

[2] 50,000 HJ�

[3] 40,000 HJ  

[4] 65,000 HJ�

  
)��� By selling a commodity for 

Rs. 72,000, a person made a profit of 

20%. What was the cost price of that 

commodity ?�

[1] Rs. 60,000  

[2] Rs. 50,000�

[3] Rs. 40,000  

[4] Rs. 65,000 �
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)*�� �����;�-� ����������0�K���!���������������/0�6�
�

 8, 13, 21, 32, 47, 63, 83 

[1] 13  

[2] 32�

[3] 47  

[4] 63�

  
)*�� Which term is wrong in the 

following series ? 

 8, 13, 21, 32, 47, 63, 83 

[1] 13  

[2] 32�

[3] 47  

[4] 63 

�+�� ��� L���� M��� ���.� !-DL���� !%� ���� %��� ���
%��������/0*�	&�7���64 9��1��M������������1��
+���� /0�� ����� ������9��1�� M���/������ �+����
���7��!-DL�%����/)	���/.��/���6 

[1] 24  

[2] 16�

[3] 8  

[4] 4�

  
�+�� A solid cube is coloured red on all 

faces. It is cut into 64 smaller cubes 

of equal size. How many small cubes 

have no face coloured ? 

[1] 24  

[2] 16�

[3] 8  

[4] 4�

���� �/�G������ �+����'.�.����.��)	���N�����
�����"�=��	�0%�#(�� �������/0���
�

[1] 	�"��/�  

[2] �)� 

[3] �)H����  

[4] !��.!��

  
���� The place, which was visited and 

mentioned by Chinese traveller Yuan 

Chwang :�

[1] Agroha  

[2] Sugh 

[3] Kurukshetra  

[4] Panipat�

���� �/��+����+/�:�2�������71�!����+����/0���

[1] �/��O�P3  

[2] �)H�"�� 

[3] F%.��&���

[4] !��.!��

  
���� The district, where Dolomite is found :�

[1] Mahendragarh 

[2] Gurugram 

[3] Faridabad 

[4] Panipat�



� ������� ������

��	�
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�'�� /�%��=��� �%��%��.� �������+������ �/��
/�%��=��� ��� ��G�� !�%��%���� ���
�����+�K	�������2�1���0��%� �����+��%/��
/0�6�

[1] 	�
������!�%��%�#
��������+���

[2] !�%��%�!/'���!�����+�� 

[3] �) ����.�!�%��%���-�B����+���
�

[4] +��	�
��%����+���

  
�'�� Under which scheme of Haryana 

Government the socio-economic 

data of all the families of Haryana is 

being created ?�

[1] Antyoday Parivar Utthan Yojna 

[2] Parivar Pehchan Patra Yojna 

[3] Mukhyamantri Parivar Samriddhi 

Yojna 

[4] Jan Aadhar Yojna�

�(�� /�%��=��� ��� !�'���.� %�+� ��G���	���� ����
��/��	�����������	�%������.��7���.1�������
,������/0���

[1] 25% [2] 33% 

[3] 66% [4] 50%�

  
�(�� Percentage of posts which have been 

reserved for women in Panchayati 

Raj Institutions of Haryana :�

[1] 25% [2] 33% 

[3] 66% [4] 50%�

���� �/� �+���� +/�:� !/�.� &�%� /�%��=��� ����
7�-'��������8����������/0���
�

[1] �)H�"�� [2] !�'�)�� 

[3] �/��% [4] %��/���

  
���� The district, where first time in 

Haryana E-challan has been 

introduced :�

[1] Gurugram [2] Panchkula 

[3] Hisar [4] Rohtak�

�&�� 4����&�� ��1.� !"��+�<15� ������� ����� +��
%/��/0���
[1] �'J� ��J� 	�7�J� 	�7�J� 2.J� �.J��

/�%��=����%��%�?�%��
[2] +.J���J�2.J��J�� /�%��=����%��%�

?�%� 
[3] �'J� �8J� 2.J� �J�� /�%��=��� �%��%�

?�%��
[4] ��/%.� ������ �������� ���%�� �%��%�

?�%��

  
�&�� 'Global City Project' is being 

developed by :�
[1] HSIIDC, Govt. of Haryana 

 

[2] GMDA, Govt. of Haryana 

 

[3] HUDA, Govt. of Haryana  

 

[4] Ministry of Urban Development, 

Govt. of India�



������ �������
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�)�� �/�	��2���+�����,�����=������#
QD1���/��)�
/�%��=��� %�R��?�%�� ����,����������� �����
+����/0���

[1] O��=��'����	��2�  

[2] �)H�����DL�	��2� 

[3] �/�%�=���,��!�	��2�  

[4] 	+)���	��2��

  
�)�� The award, which is given to a sport 

coach for excellence in coaching by 

the Haryana State :�

[1] Dronacharya award 

[2] Guru Vashistha award 

[3] Maharana Pratap award 

[4] Arjuna award�

���� ����F���.� �-�D1���� /�%��=������ ���%������
G�����/0���

[1] 11��:  

[2] 21��: 

[3] 15��:  

[4] 18��:�

  
���� The position of Haryana in India in 

respect of area is :�

[1] 11th  

[2] 21st 

[3] 15th  

[4] 18th�

�*�� ����F�� �.� �-�D1� ��� �M�)��� ���� +.��
	����%=��/0���

[1] ���=2�����

[2] ��/% 

[3] �%G��.�

[4] �9��9�� 

  
�*�� The smallest (in term of area) wild 

life sanctuary is :�

[1] Bhindawas 

[2] Nahar 

[3] Saraswati 

[4] Chhilchhila�

*+�� /�%��=������� %�R��,��������� ���
����,�) ��
/0����

[1] %�R������) ����.�

[2] ������.��	��)<� 

[3] %�R������/��
��<���

[4] %�R�����%�R�!�� 

  
*+�� The de jure head of the State 

Administration in Haryana is :�

[1] Chief Minister of the State  

[2] Divisional Commissioner 

[3] Advocate General of the State 

[4] Governor of the State�
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���� � ������!�
��"�����#
�L�$�%�� �&'(��R�

�"�)*+�	���	� ��	��	�� ����	����	�� ����������

����� ,���� -%�� �����������  	�� �	� ��%�.�"�

)*+� $�/��� � 01 �� ��� ������� ���"���

-%�2�

[1] L = 25 cm, R = 0.5 cm 

[2] L = 50 cm, R = 1.0 cm 

[3] L = 75 cm, R = 1.5 cm 

[4] L = 100 cm, R = 2.0 cm�

  
���� Two ends of rods of length L and 

radius R of the same material are 

kept at same temperature. Which of 

the following rods conducts the 

maximum heat ? 

[1] L = 25 cm, R = 0.5 cm 

[2] L = 50 cm, R = 1.0 cm 

[3] L = 75 cm, R = 1.5 cm 

[4] L = 100 cm, R = 2.0 cm�

���� ���0���3	��"��#
��	�����	4�3	���	����	��	�

5�������6$����	�6 sec��	�������*+���(��

,���� -%�� �	��� �,��07��#
� ���0��� �#
4�

�-�-%�
�����(g = 10 m/s
2��	��)�

[1] 30 m  

[2] 45 m 

[3] 60 m  

[4] 90 m�

  

���� A ball thrown up is caught by the 

thrower 6 sec after start. The height 

to which the ball has risen is : 

(take g = 10 m/s
2
)  

[1] 30 m  

[2] 45 m 

[3] 60 m  

[4] 90 m�



������ �������

��	�
���
��� � �

���� ����������� 	���	���%�-�����1��	8�,
��� �
���	�-	��� 6�9����"(�$���:�����-"��-"��-"��-"������-%�2�
����

[1] ���������������	1�;�������(
����������
-%��

[2] ��/��"����	<� 	����	 �	���"����=!�����
�

[3] �;�
� �"� ��-� ��� ���	�>�� ���� �"�
���=!�����

[4] �;�
� �"� ��-� ���  �	 "(� ���� �"�
���=!�����

  
���� Which of the following is not a 

xerophytic adaptation to reduce 

transpiration ? 

[1] Stems take over the function of 

photosynthesis. 

[2] Presence of hairs in stomatal 

pits.�

[3] Presence of keratin layer on the 

leaf surface. 

[4] Presence of waxy coating on leaf 

surface.�

���� (��� ��	#
� �=��4� ��� ��*+"� �	� ?��@��  	��
3 �	 "���	������	����$����$�/����	�����	�
�	�"� -%4� ��	� ���� ��=!���  	�� $��	� �	� �-�	�
�-�������$�/�����	�����	�"�A�	 "� 	�B�2�

[1] 1 [2] 2 

[3] 3 [4] 1.5�

  
���� If a body loses half of its velocity on 

penetrating 3 cm in a wooden block, 

then how much will it penetrate 

more before coming to rest (in cm) ?  

[1] 1 [2] 2 

[3] 3 [4] 1.5�

���� �����������  	�� �	� ��%�-��� �!��� $�8($�8($�8($�8(���
-%�2����

[1] �-=>�	�4� ��#���� $�%�� $��,
����  	��
C����-�	�	�-%���

[2] �-=>�	�����pH 7 �	�� �-�	���-%��

[3] D(:�E�(�	��	 �  	�� �-=>�	�� ��� $1>��
���=!���-�	���-%��

[4] *"���� ���	1>��  	�� ��7�� C���� �	�
�-=>�	�����F�-�	�	�-%���

  
���� Which of the following statement is 

wrong ? 

[1] Histones are rich in lysine and 

arginine. 

[2] The pH of histones is less than 7.�

[3] An octamer of histones is 

present in nucleosome. 

[4] Five types of histones are 

involved in DNA packaging.�



� ������� ������

��	�
���
��� � ���������

� �� ����"�� ����  	�� �	��	� >G%�� �"� �	��*��� ���

����(���� $����H(�� 5���� ���	� !�	� �,�	�

!� �
#>���H ��-�	�-%���!� �
#>�$����H(�� 	��

���/�����$�@E��#*�����:��	� /������	�5����

��=!�����-�	���-%��

�

�

����������� 	���	���%�.���� "��;��!� �
#>�

$����H(����	�������
�������-%�2�

[1] ZnOMgZnMgO +→+  

[2] AlOFeOAlFe 22 3232 +→+  

[3] AlZnOOAlZn 233 32 +→+  

[4] FeOAlOFeAl 22 3232 +→+ �

  
� �� The welding of railway tracks was 

done in the past with the aid of 

chemical reaction known as the 

thermite process. The thermite 

reaction involves the displacement of 

a metal from its solid oxides by 

another metal. 

Which of the following equations 

could represent the thermite reaction ? 

[1] ZnOMgZnMgO +→+  

[2] AlOFeOAlFe 22 3232 +→+  

[3] AlZnOOAlZn 233 32 +→+  

[4] FeOAlOFeAl 22 3232 +→+ �

�!�� ����������� 	���	���%�-��� �	�	���,��9����

��=(��-"��-"��-"��-"���-%�2��

[1] �"��-������%����

[2]  �#��	I��' ��

[3] $�����33:7�" 

[4] � !�	��	,��

  
�!�� Which of the following is not a 

member of Kingdom Monera ? 

[1] Blue green algae 

[2] Mycoplasma 

[3] Slime moulds 

[4] Methanogens�



������ ��� ���

��	�
���
��� � �

�
�� �"�	���������:>�	���"��-�(����	������1��

�	�$8(���(�������	������(���"�,��
�

A. ��� �

B. =&"�	���

C. ��1��JD�� �

D. ����	���

E. ��K���

�:>�:>�:>�:>����



����

[1] A ����E  

[2] A ����C�

[3] B ����D  

[4] C ����D�

  
�
�� Select the essential parts of a flower 

using the codes given below :�

A. Petals� �

B. Pistil�

C. Peduncle� �

D. Stamens�

E. Sepals 

Codes : 

[1] A and E  

[2] A and C�

[3] B and D  

[4] C and D�

���� 60 kg� ��L( ������ ��� L(�E�� ��M>��	�

$���� � ��"���� ����� ��� ��*+�� -%�� (���

��M>� =���&�N���	� �"�	� �"�$�	�� ����"�

-%4���	�� ��"��������������O9(����-�	���
�

�

[1] 60 kg��	�������

[2] 60 kg��	�'(����

[3] 60 kg��	�� �

[4] ��:D(�

  

���� A person of mass 60 kg is standing 

on a spring balance inside a lift. If 

the lift falls freely downwards, then 

the reading of the spring balance will 

be equal to : 

[1] equal to 60 kg 

[2] more than 60 kg 

[3] less than 60 kg 

[4] zero�



� ���!��� ������

��	�
���
��� � ���������

�""�� ��� �� �;��� �"� ������� �	� �����
�  	��
����������� 	���	���%�.�	��!����-"��-"��-"��-"��-"��
-%��2�

(i) �:;�
�N�� 	���� �;�������"��-�	���-%� 

(ii) �� �;�������%(�E���A�J!��B��;��-%� 

(iii) �� �;��� ��� ����� ����� �������  	��
���	�D����-%� 

(iv) ���"� �� �;��� $��"� $�P� A :�B�
$�=!��� 	��=!��("�-�	�	�-%�� 

�-"�-"�-"�-"��������-%�
 
[1] (ii) �!�� (iii)  

[2] (iii) �!�� (iv) 

[3] (ii) �!�� (iv)  

[4] (i) �!�� (iv)�

  
�""�� Which of the following statements 

are incorrect about the structure of 

an atom ? 

(i) The atom as a whole is neutral. 

(ii) The atom is an indivisible particle. 

(iii) The whole mass of an atom is 

concentrated in the nucleus. 

(iv) All the atoms are stable in their 

basic state. 

Correct option is : 

[1] (ii) and (iii)  

[2] (iii) and (iv) 

[3] (ii) and (iv)  

[4] (i) and (iv)�

�"��� ����� 	���	���%�-�������!�����	>�	��@*
��	�

�D���
�  	�� �:;�
�(�� ������������� -%4� ,���� ���"�

�"���-"�-%��
����

[1] (-��	�������*(���������"��:7)� 	��

��#
�,��"�-%� 

[2] (-��(=��>�	*� 	�����	6�"��;*�5����

C��=!����������"�,��"�-%��

[3] (-���@�D*GE!�",� 	�����:;�
�,"������ 	��

=!��("�N���	��-"����#
�,��"�-%��

[4] (-����3$�@E��� 	��,"����(
D����("�

,��"� -%� �!��� ���� �	� �%�� ��� 3%�"�

-�	�"�-%��

  
�"��� Which one of the following statement 

is totally wrong about the occurrence 

of notochord, while the other three 

are correct ?  

[1] It is present only in the tail of 

ascidian larva. 

[2] It is replaced by a vertebral 

column in adult toad.�

[3] It is not persistent throughout 

life in chondrichthyes. 

[4] It persists throughout life in 

Amphioxus and extends from 

head to tail.�



������ ���
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��	�
���
��� � �

�"��� ���>	������@*
�� 	�4�����%>�"� 	��)
��	��	��
��	� Q	;�"H �  	�� ,�	*+�	� �	� ��%���� ��� �	��
���"��	� ����"��/����;���� 	��,�*+�,����-%��
(�����	*����������"�������	/��24 Ω�-%�$�%��
��8(	���	�����$�������������	/��1 Ω�$�%��
��R��R���1.5 V�-%4���	��%>�"�5��������(�
�"��#
�/�����-%�
�
�

[1] 0.1 A [2] 0.2 A 

[3] 0.3 A [4] 0.4 A�

  
�"��� In a tape recorder, while connecting 

six cells in a battery in series by 

mistake one cell is connected with 

reverse polarity. If the effective 

resistance of load is 24 Ω and 

internal resistance of each cell is 1 Ω 

and e.m.f. 1.5 V, the current 

delivered by the battery is : 

[1] 0.1 A [2] 0.2 A 

[3] 0.3 A [4] 0.4 A�

�"��� �&'(�� R� �"� ��� �J��"(� ��;*�"� �	� ���
��P���/����������-��-�	��-"�-%����;*�"��	�
�	���� ��� $�%�� ��;*�"� �	� $S�� ��� ���	�
�	D����	� 3  R��:�"���������"(�S�	&����
$������-%�
�
�

[1] 2 : 1 [2] 5 : 3 

[3] 8 : 1 [4] 3 : 2�

  
�"��� An electric current is flowing 

through a circular coil of radius R. 

The ratio of the magnetic field at the 

centre of the coil and that at a 

distance 3 R from the centre of the 

coil on its axis is : 

[1] 2 : 1 [2] 5 : 3 

[3] 8 : 1 [4] 3 : 2�

�"��� ��� ��P��(� �"� ��(�	�������  	�� ��T�
>��� �	�
��%���4� �-��� $�/���  �&��  	�� ��	�*( �
-�#*G�@E��#*�3%��,����-%��3%�	�-���S������	�
����"�"U�� ���	� �	� ���� ��%�.��� ���!�
�
$��/�E(� 	��� ���	������(�E���-"��-"��-"��-"��-%�2�

[1] ��M(:����$���

[2] $�@E�	����$���

[3] ���>G��$���

[4] ��	�*( �-�#*G�	,����3	>�

  
�"��� In an accident in a school lab, a large 

sample of aqueous sodium hydroxide 

was split. Which substance when 

added in excess, is not suitable for 

neutralizing the alkali spill ? 

[1] Sulphuric acid 

[2] Oxalic acid 

[3] Citric acid 

[4] Sodium hydrogen sulphate�



� ������� ������

��	�
���
��� � ���������

�"��� ��	��;��	��P1 $�%� P2��	���(	���=!����.� (�

���3�� (�$S���	���!��30° $�%� 45°��	�

��	;��	�� ���V��"� -�#
� �"/�"� �	���(	�� -%��� ���	�

�	��	�����$������V
P

1
 : V

P
2
  -�	���
�

�

[1] 1 : 3   

[2] 1:3  

[3] 1 : 3  

[4] 1 : 1�

  
�"��� The displacement time graph for the 

two particles P1 and P2 are straight 

lines inclined at 30° and 45° with the 

time axis. The ratio of velocities  

V
P

1
 : V

P
2
 will be : 

[1] 1 : 3   

[2] 1:3  

[3] 1 : 3  

[4] 1 : 1�

�" �� ,"��� � #
�/��� �	� ,��	� �	� ��#>G�	,�� �	�

��%�.�	�$�@E��#*��8�D��-�	�	�-%��2�

[1] NO $�%� 2NO   

[2] 2NO , 3NO  $�%� 52ON  

[3] 32ON  $�%� 52ON  

[4] 3NO  $�%� 52ON �

  
�" �� Which oxides of Nitrogen are 

generated by burning of fossil fuel ? 

[1] NO and 2NO   

[2] 2NO , 3NO  and 52ON  

[3] 32ON  and 52ON  

[4] 3NO  and 52ON �

�"!�� ����� �;����,� 	��3����	>�@���!���4�D(:>G�@��

-%�4��"���(�	,����-�	�"�-%�
�

[1] 7  

[2] 1 

[3] 3  

[4] 4�

  
�"!�� An atom with 3 protons and 4 

neutrons will have a valency of : 

[1] 7  

[2] 1 

[3] 3  

[4] 4�



������ ���"���

��	�
���
��� � �

�"
�� ������	/�� 50 Ω� ��� ��� ��� ��;*�"�
/���� ��"� �:;�
� �% ��	� ��� ��S�	�;�� �	��� -%4�
,��#� 	���	�0.5 mA �"�/����������-���"�
,��"�-%��#�	�10 volt ������	���	�> ">��
 	��������
�����	��	���(	�$���(��������	/��
-%�
�

[1] 1950 Ω [2] 2000 Ω 

[3] 19950 Ω [4] 20000 Ω�

  
�"
�� A moving coil galvanometer of 

resistance 50 Ω gives a full scale 

deflection, when a current of 0.5 mA 

is passed through it. The resistance 

required to convert it into a 

voltmeter of range 10 volt, is : 

[1] 1950 Ω [2] 2000 Ω 

[3] 19950 Ω [4] 20000 Ω�

�"��� �����/���;����	������$���
����T1�-�	���
-%�,���-��J!�"��"���-����-%�$�%��T24�
,��#�	��J!�"��"���-��	�R�07��#
�����	�
,�(��,����-%��,-�7�R��J!�"��"��&'(��-%��
T2/T1���� ���-�	���
�
�

[1] 1 [2] 2  

[3] 2 [4] 4�

  

�"��� A simple pendulum has a time 

period T1, when it is on earth's 

surface and T2, when taken to a 

height R above the earth's surface. 

Where R is the radius of the earth. 

The value of T2/T1 will be : 

[1] 1 [2] 2  

[3] 2 [4] 4�

��"�� ����������� � �W�(�	��  	�� �	� ��%�.�"�
��T�>���7������X+��	�����X+�"�-%��2�
�

[1] ��1��4����	(��4��%��	��������"*��

�

[2] ��1��4�����;�4��%��	�����������
�

[3] ����;�4����	(��4��%��	��������"*��
�

[4] ��T���4�����;�4��%��	��������"*��

  
��"�� Which one of the following set 

phenomena would increase on 

raising the temperature ? 

[1] Evaporation, solubility, 

compression of gases 

[2] Evaporation, diffusion, 

expansion of gases 

[3] Diffusion, solubility, 

compression of gases 

[4] Condensation, diffusion, 

compression of gases�



� ������� ������

��	�
���
��� � ���������

����� ��� ���1�� ������"�  	�� ,�� �	*� ��#>G	>�
�H=>��	����	��	,"��	��� ���(��,����-%4���	�
�
[1] �����:���$���	1�������-% 
[2] ������"� 	����	��/�: �����>�-�	�	�-%� 
[3] �H=>����"T�����1�"U��-�	�,��	�-%� 
[4] ����"���$���	1�������-%�

  
����� When crystals of lead nitrate are 

heated strongly in a dry test tube : 

[1] a brown residue is left 

[2] white fumes appear in the tube  

[3] crystals immediately vaporise 

[4] a yellow residue is left�

����� ��!��� �	���	-�@�� �	� ��U����;�� �	� ����
����������� 	���	���%�.���� �W�(��� � 	��
�	�	�-%��2�

[1]  	!�	��@�4�,�4���@���E��	��#*�

[2] ���	�	��@�4������4���	>%���( ��� %���	>�
�

[3]  	!�	��@�4�����*"�4���@�����3	>�
�

[4] �����4�����*"�4�,��

  
����� Which of the following set can be 

used for the denaturation of ethyl 

alcohol ? 

[1] Methanol, Water, Copper Chloride 

[2] Propanol, Vinegar, Potassium 

Permangnate 

[3] Methanol, Pyridine, Copper 

Sulphate 

[4] Vinegar, Pyridine, Water�

����� ����������� �	��	����������������E(�������
�
����

[1]  �������"���	�����$���(��$�(���
-�"� ��?,(�	��  �	� ������  �&��  	�� ��(��
,����-%��

[2] �,���  ���� ���"�� �	� ���� ���
$���(���:S �����-%��
�

[3]  �����	���������$�-����	� ��������
�� 9� ����,� ���!�
� $���(�� ��	1���
�����-"��-%���

[4] �	������	,��,�	�������:;�
�$�@E�"��;��
�	������9����"�� 	��0,�
��8�D�������
-%4� ����	
-�#*G	>4� ���� �� 9� ���	>"�� �	�
N�� 	��-�	���-%��

  
����� Select wrong statement from the 

following : 

[1] Iron necessary for human body 

is abundantly found in green 

vegetables. 

[2] Zinc is one of the essential trace 

elements required for human 

body.�

[3] Fat and minerals are not the 

essential nutrients for a balanced 

diet of humans. 

[4] The food that generate energy in 

the body after complete 

oxidation are in the form of 

carbohydrates, fat and proteins.�



������ �������

��	�
���
��� � �

����� �����������  	�� �	� ��%�.�"� ����=!���(�	��  	��
�����&� 	�� ���	�-�#*G�	,��$;��$�	���	� /(�
�:�"� 	���J�F�-�	�"�2�
�

(i) ��&�  	�� �	� ��)� -�#*G�	,�� �%�� ���
������-�	�,��� 

(ii) -�#*G�	,�� �%�� �	� ��&� ��� $�(���
�X+���� 

(iii) ���������&� 	�����=!���-�#*G�	,���%��
��������X+�����
 

(iv) ��&����$�(����X+��� ����4� ��&�  	��
$����E��-�#*G�	,���%���������
 

[1] (ii) �!�� (iii)  

[2] (ii) �!�� (iv) 

[3] (i) �!�� (ii)  

[4] (i) �!�� (iii)�

  
����� In which of the following conditions, 

the distance between the molecules 

of hydrogen gas would increase, 

filled in a container ? 

(i) Some hydrogen gas leaking out 

the container. 

(ii) Increasing the volume of 

container of hydrogen gas. 

(iii) Increasing pressure on hydrogen 

gas contained in a closed 

container. 

(iv) Adding more hydrogen gas to 

container without increasing the 

volume of the container. 

[1] (ii) and (iii)  

[2] (ii) and (iv) 

[3] (i) and (ii)  

[4] (i) and (iii)�

����� ��� �	�*(�	/� "
� ���� �	� �� �;��$�	�� �"�

���������� ���(�4�$/�
� $�(����� 100� ����	��

�	���!��9.6 × 10
26�-%��500�����	���	�����

$S��(�� �-�	� ���	� �� �;��$�	�� �"� ���(��

-�	�"�
�

[1] 19.2 × 10
25

  

[2] 9.6 × 10
25

 

[3] 3.84 × 10
25

  

[4] 3.0 × 10
25�

  

����� The initial number of atoms of a 

radioactive element with half life 

100 days, is 9.6 × 10
26

. The number 

of atoms remaining undecayed after 

500 days, will be : 

[1] 19.2 × 10
25

  

[2] 9.6 × 10
25

 

[3] 3.84 × 10
25

  

[4] 3.0 × 10
25�



� ������� ������

��	�
���
��� � ���������

�� �� $���	
��"�����'(�	���C�!�� ������'(�	���-%�4�
E(�	����
����

I. �	�������	�,"��� 	��C��������$�=!���
 	��C�>�-�	�	�-%���

II. �	� ������	� C�!�� �� ���"���	� �� �
;��
 	��(�	��������	�-%�� 

[1] ��	��	��I�����II��-"�-%��

[2] ��	��	��I�����II�����-%��

[3] �	���I��-"�-%�

[4] �	���II��-"�-%�

  
�� �� Intercalary meristems are the 

primary meristems, because : 

I. They appear early in the life of a 

plant. 

II. The contribute to the formation 

of the primary plant body. 

[1] Both I and II are correct 

[2] Both I and II are incorrect 

[3] Only I is correct 

[4] Only II is correct�

��!�� �����������  	�� �	� ��%�.��� ��� $��"(�
��;���-"��-"��-"��-"���������-%�2�

[1] 3�@=3�	����$���

[2] ��M(:����$���

[3] -�#*G�	E��	����$���

[4] ��#�>G��$���

  
��!�� Which of the following does not 

form an acidic salt ? 

[1] Phosphoric acid 

[2] Sulphuric acid 

[3] Hydrochloric acid 

[4] Nitric acid�

��
�� ��� V"�� �"� ��-� �	� 10� m� �"�	� ���
�%�������E(������-�	���2�
�

[1] 1 atm  

[2] 2 atm 

[3] 5 atm  

[4] 10 atm�

  
��
�� What will be the pressure on a 

swimmer 10 m below the surface of 

a lake ? 

[1] 1 atm  

[2] 2 atm 

[3] 5 atm  

[4] 10 atm�



������ �������

��	�
���
��� � �

����� ����� ��	 ��  	�� ���=!��� �%���( � 3�@=3	>�

�"���U���-%�
�

[1] $��"(�

[2] ����"��

[3] S���"(�

[4] ���(/� "
�

  
����� Nature of calcium phosphate present 

in tooth enamel is : 

[1] acidic 

[2] neutral 

[3] basic 

[4] amphoteric�

��"�� 6�/������-��$�	�����$D�
=���-%�
����

[1] ����"�������

[2] T�������������

[3] =���������������

[4] �S ���"�������

  
��"�� The endothelium of blood vessels is : 

[1] Squamous epithelium 

[2] Cuboidal epithelium�

[3] Columnar epithelium 

[4] Ciliated epithelium�

����� ��	� /���� �����	�� �	� L(����;�� �	� ���;��

��=���� ����#
� �	�	� -%��� /���� �"� �"�����

100 � �"��	�;*� 	��$�/��� ��	� D(:�� �

��� ������
�� -�	�"� -%�� ��	��	�� �����	�� �"�

$��J���(�	�� 	��$����-%�
�

�

[1] ��	#
�$�����-"��-%�

[2] 2.5 Hz 

[3] 5.0 Hz 

[4] 10.0 Hz�

  
����� Beats are heard due to interference 

of two sound waves. The intensity of 

sound changes from maximum to 

minimum in 100 milli second. The 

difference in frequencies of two 

waves is : 

[1] No difference 

[2] 2.5 Hz 

[3] 5.0 Hz 

[4] 10.0 Hz�



� ������� ������

��	�
���
��� � ���������

����� �����������  	�� �	� ���P.���!�
� ���� �����

������,��	��	�C�I��-�	�	�-%�4�����������������(�Y �

�(�����"�,��
�

[1] �	-:7� −� 3�� �

[2] $����−� ,*+�

[3] -��"� −� ����

[4] ��(� −� �;�
�

  
����� Select the incorrect pair of the food 

articles and the plant part from which 

it is obtained from the following : 

[1] Wheat − Fruit 

[2] Ginger − Root 

[3] Turmeric − Stem 

[4] Tea − Leaves�

����� -�"� ����� �	� �����
�  	�� ����������� �!���	��

�����������4���������:>�	����"��-�(���

�	���������������!�������(���"�,��
�

�

(A) -�"������ 	�����
�������!�
�������	1���	��

�"�C������-�	�"�-%��

(B) -�"��������� ��(�	�� ���!�� ��N���	�

 J�����	�3�@=3�	����	����D�����	�-	���

��(��,����-%��

(C) -�"������$��T��>����������!�
�-%��

�:>�
�:>�
�:>�
�:>�
 

[1] A ����B� �

[2] B ����C�

[3] C ����A� �

[4] �	���B�

  
����� Consider the following statements in 

reference to green manure and select 

the incorrect statement using the 

codes given below :�

(A) Green manure is rich in organic 

matter and nutrients.�

(B) Green manure is primarily used 

to enrich the soil in phosphorus.�

(C) Green manure is the 

undecomposed plant material.�

Codes : 

[1] A and�B� �

[2] B and�C�

[3] C and�A� �

[4] Only B�



������ ��� ���

��	�
���
��� � �

����� ����������� 	���	���%�.�"4���L(��"�$�=!���

 ��"�,��"�-%��2�

(i) I��'+ �  

(ii) I�	>9�	>9� 

(iii) BEC  

(iv) BHC 

[1] (i) �!�� (ii)  

[2] (iii) �!�� (iv) 

[3] (i) �!�� (iii)  

[4] (ii) �!�� (iii)�

  
����� Which of the following are also 

considered to be the states of matter ? 

(i) Plasma  

(ii) Platelets 

(iii) BEC  

(iv) BHC 

[1] (i) and (ii)  

[2] (iii) and (iv) 

[3] (i) and (iii)  

[4] (ii) and (iii)�

�����  ',�� ��	�����$�	�� ��	� ����� ����	� ���"�

��	������7��-���"�-%��
 

[1] $�	�=>(�	��#>9��

[2] ��	D*G�	��#>9��

[3] $�	�=>$�	E��=>�

[4]  ',�E��=>�

  
����� Cells that maintain marrow cells are 

celled : 

[1] Osteocytes 

[2] Chondrocytes�

[3] Osteoclast 

[4] Marrowclast�



� ���!��� ������

��	�
���
��� � ���������

�� �� �����%/����,����,"��	>�#��WWXxYyZZ 

-%� �� 9� �� 	�� =�����;�� -�	��� -%�� #��"�

������ ���� $������  	�� WWxxyyZZ 

,"��	>�#�� C����
�� ��	�"� A(��� ���"� ����	��

,"��=��D&�N���	�$�L(�-��-�	�	�-�	�B�2�

[1] 
9

1
  

[2] 
16

1 �

[3] 
64

1
  

[4] 
128

1 �

  
�� �� A plant with genotype WWXxYyZZ 

is self pollinated. What proportion of 

the progeny will show the genotype 

WWxxyyZZ (if all four genes are 

independently assorting) :�

[1] 
9

1
  

[2] 
16

1 �

[3] 
64

1
  

[4] 
128

1 �

��!�� ��@� .��@� .��@� .��@� .I���	���@� .��@� .��@� .��@� .II��	�� ��(	��$�%���-"�-"�-"�-"�
����������(����	��
�

���� ��@� .��@� .��@� .��@� .I ���� ��@� .��@� .��@� .��@� .II 

I. X.���;�	� (A) 1 Å 

II. �J�(������� (B) 2000 Å 

III. ����%���"�

�����;� 

(C) 5000 Å 

IV. $��E��

�����;� 

(D) 10000 Å 

[1] I(A), II(C), III(B), IV(D) 

[2] I(A), II(B), III(C), IV(D) 

[3] I(D), II(C), III(B), IV(A) 

[4] I(B), II(D), III(A), IV(C)�

  
��!�� Match the Column-I with Column-II 

and choose the correct option : 

 Column-I  Column-II 

I. X-Rays (A) 1 Å 

II. Visible light (B) 2000 Å 

III. Ultraviolet 

radiation 

(C) 5000 Å 

IV. Infrared 

radiation 

(D) 10000 Å 

[1] I(A), II(C), III(B), IV(D) 

[2] I(A), II(B), III(C), IV(D) 

[3] I(D), II(C), III(B), IV(A) 

[4] I(B), II(D), III(A), IV(C)�



������ ���
���

��	�
���
��� � �

��
�� ��:�����%������	��	���(	��,� 	�����J!�"����
�����-%�
�

[1] �J!�"�����J1O�����

[2] �J!�"���� 	�>��A�����;�B�

[3] �J!�"������"��"���	��

[4] �J!�"������-�"���	��

  
��
�� The earth's part responsible for 

causing earthquakes is : 

[1] crust of earth 

[2] mantle of earth 

[3] inner core of earth 

[4] outer core of earth�

����� �!����!����!����!��� (A) �� 9� ���;�����;�����;�����;�� (R) ��� ��"S�;��
���	��-"�-"�-"�-"������������
����

�!����!����!����!���(A) 



������"
��;��  	�� ,���� A=�"��",B�
���$�����
�"(�#��#
�-%��

���;�����;�����;�����;��(R) 



����,���� � (� �	� ��!�� ������
��
�-"��-�	�"��

[1] A �� 9�R �8(�-%���!���R, A ����-"�
=�1>"��;��-%��

[2] A �� 9�R �8(�-%���	����R, A ���
�-"�=�1>"��;���-"��-%��

[3] A �-"�-%���D���R ����-%��

[4] A �� 9�R ��	��	������-%���

  
����� Examine Assertion����(A) and Reason 

(R) and choose correct answer :����

Assertion����(A) : Species are static 

units in classification. 

Reason (R) : Species do not 

change with time. 

[1] A and R are true and�R is the 

correct explaination of A.�

[2] A and R are true but�R is not 

correct explaination of A.�

[3] A is true but�R is false.�

[4] A and�R are false.�

��"�� �����������  	�� �	� ��%�-�"� ,"����
��	�����$�	���"���	������ ���������� �)Z�����
,��	�-%��2�

[1] ��=>���	������

[2] ���-���

[3] ���-�����

[4] ����"���	������

  
��"�� Which of the following living cells 

have perforations on their cell  

walls ? 

[1] Bast cells 

[2] Vessels 

[3] Tracheids 

[4] Sieve cells�



� ������� ������

��	�
���
��� � ���������

����� ��� ������"
� T���  	�4� ��(�� ��� ��� )�	>��

�������� -%�� ��� �J1O� �	� �	���	� ��� #��"�

$�����"� �:�"� 2 cm� �!��� �:��	� �J1O� �	�

�	���	����5�cm -�	�"�-%��(���T����	����!�
�

���$���
����� 1.5� -%4� ��	� T����	� �����	�

�"���=���������#
�-�	�"����-��
�

�

[1] 
3

14
 cm [2] 7 cm 

[3] 7.5 cm [4] 10.5 cm�

  

����� A transparent cube contains a small 

air bubble. Its apparent distance is 2 

cm when seen through one face and 

5 cm when seen through other face. 

If the refractive index of the material 

of the cube is 1.5, the real length of 

the edge of cube must be : 

[1] 
3

14
 cm [2] 7 cm 

[3] 7.5 cm [4] 10.5 cm�

����� ���
�� (�%����	�� �	� ���� �����������  	�� �	�

��%�.�	��!����-"��-"��-"��-"��-"���-%��2�

a. $�/������� ���
�� (�%���� ��P��� �	�

�������-�	�	�-%�� 

b. $�/������� ���
�� (�%����	��  	�� $�(����

��/��-�	�	�-%�� 

c. ���
�� (�%����	�� �	� $;��$�	�� �	�  /(�

$��1�
;�� ��� �-��� ����� �-"�� -�	�	���

-%�� 

d.  	!�	��@�4� �	�"�>�� $��� �!��� �	�">�	��

���
��(�%����-%�� 

[1] (a) �!�� (d)  

[2] (c) �!�� (d) 

[3] (a) �!�� (b)  

[4] (b) �!�� (d)�

  

����� Which of the following statements 

are incorrect for carbon compounds ? 

a. Most carbon compounds are 

good conductor of electricity. 

b. Most carbon compounds have 

ionic bonds. 

c. Force of attraction between 

molecules of carbon compounds 

is not very strong. 

d. Methanol, acetic acid and 

acetone are carbon compounds. 

[1] (a) and (d)  

[2] (c) and (d) 

[3] (a) and (b)  

[4] (b) and (d)�



������ ���"���

��	�
���
��� � �

����� �����������������!���������
 

[1] �����	E��� =��� ��� 0,�
� ��� ����-;��

�5�"(���8��������-�����-%��

�

[2] ���"� ��"� �����D&�  	�� $�/��� �0,�
�

����-;���8�����=������-�	�"�-%��

�

[3] ������&�A#��	��=> B���?��$�	* �5����

��(���(��!����

[4] ��� =���	1�"�  	�� �,�������	����
����

$;��$�	������� �
;��-�	���-%4���	�����

C�!�� ���8��������-�	�-%���

  
����� Select wrong statement : 

[1] The storage of energy at 

consumer level is known as 

secondary productivity. 

[2] In any ecosystem maximum 

energy is stored at producer 

level.�

[3] Ecosystem term was coined by 

Odum. 

[4] Rate at which organic molecules 

are formed in an autotroph is 

called gross primary productivity.�

����� ����� 	���	���%�-����� 	�����-"��-"��-"��-"���-%�2�

����

[1] ��*���A>	D*�B�−���(�	,"�0���

[2] ����"��	���(�7�−�$�%�W)���	���(�7�

�

[3] �����	��"�−� �(�	Y��	����

[4] >G�	��	����−��D���"(�C�	>"��

  
����� Which one of the following is 

wrongly matched ? 

[1] Tendon − Connective tissue 

[2] Smooth muscles  − Involuntary 

      muscle�

[3] Red muscles − Myoglobin 

[4] Troponin − Fibrous protein�



� ������� ������

��	�
���
��� � ���������

����� *��>�� ��� �� �;��� ��F�D�� �3����:�
��

� V����-%�
�

(i) ��L( ������S�;�������(  

(ii) �=!���$�����������(  

(iii) �	�*(�	��H(��������(  

(iv) ���;���$�����������(  

�-"�-"�-"�-"��������-%�
 

[1] (i), (iii) �!�� (iv) 

[2] (ii), (iii) �!�� (iv) 

[3] (i), (ii) �!�� (iv)  

[4] (i), (ii) �!�� (iii)�

  
����� Dalton's atomic theory successfully 

explained : 

(i) Law of conservation of mass 

(ii) Law of constant proportion 

(iii) Law of radioactivity 

(iv) Law of multiple proportion 

Correct option is : 

[1] (i), (iii) and (iv) 

[2] (ii), (iii) and (iv) 

[3] (i), (ii) and (iv)  

[4] (i), (ii) and (iii)�

�� �� ��@��� �	� ��P��� $�T�>�"� ���	/���  	�� �	��	*�

�����	�N�� 	�� ����������� 	���	���%�.�"�

/��������=!���-�	�"�-%�2�

[1] �	�� "��( �

[2] ��	���

[3] ��	�*( �

[4] �,�+��

  

�� �� Which of the following metals is 

present in the anode mud during 

electrolytic refining of copper ? 

[1] Aluminium 

[2] Gold 

[3] Sodium 

[4] Zinc�



������ �������

��	�
���
��� � �

��!�� �����������  	�� �	� ��%�-�"� 3��� ��� >"�

 J����	�������(�E���-"��-"��-"��-"���-%�2�

[1] �	-:7� [2] /����

[3] ��-�� [4] �����

  
��!�� Which of the following crop is not 

suitable for loamy soil ? 

[1] Wheat [2] Paddy 

[3] Pulses [4] Cotton�

��
�� �	����� ��	*�� �!��� ��	*�� �	��� (�%����	��  	��

��%�.����8�����(��1O��-"��-"��-"��-"���-%�2�

�

[1] -�#*G�	,�� [2] $�@E�",��

[3] ��	�*( � [4] ���
��

  
��
�� The element which is not common 

between the compounds called 

baking soda and soda ash is ? 

[1] Hydrogen [2] Oxygen 

[3] Sodium [4] Carbon�

����� �����������  	�� �	� ��%�.��� � "��;�� ���

���� $���
� ���� ��	� ������
�� �-"��-"��-"��-"�� �������

-%�2�

[1] y = a sin ωt + b cos ωt 

[2] y = 
ti

ae
ω

 

[3] y = b cos ωt 

[4] y = b tan ωt�

  
����� Which of the following equation does 

not represent a simple harmonic 

motion ? 

[1] y = a sin ωt + b cos ωt 

[2] y = 
ti

ae
ω

 

[3] y = b cos ωt 

[4] y = b tan ωt�

��"�� �����  	�� �	� ���� ��-� �	� ���	� $�/���

����-�-%��2�

[1] �J-=���� [2]  ����

[3] ��/�� [4] �����

  
��"�� Which of the Planet has the largest 

number of satellites ? 

[1] Jupiter [2] Mars 

[3] Mercury [4] Saturn�



� ������� ������

��	�
���
��� � ���������

����� ���� ��=!��� 	�� ���	� �����-(	� ��� �H(����

50 Nm� ��� ���T�:;�
4� #�	� 5� �	�;*�  	��

200� �	�*(�� T�� ���� -%�� ��	;�"(� 8��;��

A�	�*(�[�	�;*2B� 	��-�	���
�

[1] 4 [2] 8 

[3] 12 [4] 16�

  
����� A torque of 50 Nm acting on a wheel 

at rest rotate it through 200 radians in 

5 seconds. The angular acceleration 

(in rad/sec
2
) will be : 

[1] 4 [2] 8 

[3] 12 [4] 16�

����� �	�	� �:S ,"�"4� ,�"(� ���;�"� �,� 	�� � �"(�

(�	Y(���7��-"��-�	�"�-%���!������"��	�����-��	�

��!���-�	�-%��
 

[1] I�(:=>��

[2] I�%��>��AI���B�

[3] �	E>��A��;��B�

[4] �%=>��

  
����� Microscopic aquatic organisms 

lacking locomotory ability and 

drifting with water currents are : 

[1] Pleuston 

[2] Plankton�

[3] Necton 

[4] Saston�

����� ������ �	� ������	� �"� ��� �-��� ���"�

������"
� �3� �A �	>�#
�→ 0B4���	���������

�	� �����
�� �	� $/�"�� �	��"� ,��"� -%4� ���

�3� �������������#
��	���-%�
�

[1] �"��� [2] �����

[3] ��	��A�3	�B� [4] �"���

  
����� A very thin transparent film of soap 

bubble (thickness → 0) is seen under 

reflection of white light. Then the 

colour of the film appear to be : 

[1] Blue [2] Black 

[3] White [4] Yellow�



������ �������

��	�
���
��� � �

����� ����������� 	���	���%�.�����;��(�%�����"�
L(��(���-"��-"��-"��-"��������-%�2�

[1] ���%������H �	���	�5����#�	4�#��	�$�(��	��
 	���J!����-"����(��,�������-%��

[2] (-���	�$!����$�/����8��	���	� � ����
����-�	���-%��

[3] (-�������F����!�
�-%��

[4] #�	� ��L( ��� �	� ���"� ��"� $������  	��
� ��������(��,�������-%��

  
����� Which of the following property 

does not describe a compound ? 

[1] It cannot be separated into its 

constituents by physical means. 

[2] It is composed of two or more 

elements. 

[3] It is a pure substance. 

[4] It is mixed in any proportion by 

mass.�

����� ����(���� ���!�
� X� �!��� Y� $����  	��
��(�E��-�	����8����P�����	�-%�� �,� 	��X�
�!���Y���	��	��-%��
�

� X + Y → P 

�� �D(�����(����$����H(�$�	���	�5����X�
�!���Y���	��������!��	
��  	���-"����	*+��,��
����� -%�� X, Y �!�� P� �	� �����
�  	��
����������� 	���	���%�.����!����-"�-"�-"�-"��-%�2�
�

(i) P ���(�%����-% 

(ii) X �!�� Y (�%����-%� 

(iii) X �!�� Y �8��-%� 

(iv) P ������������T�>��-�	���-% 

�-"�-"�-"�-"��������-%�
�

[1] (i), (ii) �!�� (iii) 

[2] (i), (ii) �!�� (iv) 

[3] (ii), (iii) �!�� (iv)  

[4] (i), (iii) �!�� (iv)�

  
����� Two chemical substances X and Y 

combine together to form a product 

P which contains both X and Y : 

 X + Y → P 

X and Y cannot be broken down into 

simpler substances by simple 

chemical reactions. Which of the 

following statements concerning X, 

Y and P are correct ? 

(i) P is a compound 

(ii) X and Y are compounds 

(iii) X and Y are elements 

(iv) P has a fixed composition 

Correct option is : 

[1] (i), (ii) and (iii) 

[2] (i), (ii) and (iv) 

[3] (ii), (iii) and (iv)  

[4] (i), (iii) and (iv)�



� ������� ������

��	�
���
��� � ���������

�� �� ����������� 	���	���%�-�"� ��(�(����"��"�
3����-"��-"��-"��-"���-%�2�

[1]  :7�3�"� �

[2] ����

[3]  >�� �

[4] ����	��

  
�� �� Which of the following is not chiefly 

a Rabi crop ? 

[1] Groundnut  

[2] Gram 

[3] Pea  

[4] Mustard�

��!�� ����������� 	���	���%�.�"�����=!���(�7�,��
�	���1�����	��X+��"�-%��2�

[1] ���� 	���J�F4��� �D(���;����	�� �����
�

[2] �J1O"(�S�	&3�� 	���J�F4����� 	���J�F�
�

[3] �J1O"(�S�	&3�� 	���J�F4����� 	��� "�
�

[4] �J1O"(�S�	&3�� 	��� "4����� 	��� "�

  
��!�� The evaporation of water increases 

under the following conditions : 

[1] Increase in temperature, addition 

of common salt  

[2] Increase in surface area, rise in 

temperature 

[3] Increase in surface area, 

decrease in temperature 

[4] Decrease in surface area, 

decrease in pressure�

��
�� I��'+ ���V��"��	����� �	,	�� �@*�� 	��
�
�

[1] 0��"� ���� $/����"(� �� 9� ,����"�
-�	�"�-%��

[2] /����"(�����,������"�-�	�"�-%��

[3] 3�@=3�	����*� �5=��� ����	� -%�� ,�	�
�����������������-%��

[4] C�	>"�� /(���������	�-%���

  
��
�� In fluid mosaic model of plasma 

membrane : 

[1] Upper layer is non-polar and 

hydrophilic.�

[2] Polar layer is hydrophobic.�

[3] Phospholipids form a bilayer that 

provides fluidity.�

[4] Proteins form a middle layer.�



������ ��� ���

��	�
���
��� � �

����� �����������  	�� �	���%�.��[�	� ��H �01 ��

���
� ������[���	�-%��2�

(i) ��T��� 

(ii) ��1�� 

(iii) �- �  

(iv) ��� 

�-"�-"�-"�-"��������-%�
�

[1] �	�� (i)  

[2] �	�� (iv) 

[3] (ii) �!�� (iii)  

[4] (i) �!�� (iii)�

  

����� Which of the following process/ 

processes release heat ? 

(i) Condensation 

(ii) Vaporisation 

(iii) Freezing  

(iv) Melting 

Correct option is : 

[1] Only (i)  

[2] Only (iv) 

[3] (ii) and (iii)  

[4] (i) and (iii)�

��"�� �����������  	�� �	� ������ ����� ���
�/���

-�	���2�

[1] ��H�	���	�0.2� �	�� )( 112212 OHC �

[2] 3CaCO  �	�2.0� �	��

[3] 2CO ��	�2.0� �	��

[4] OH2 ��	�10� �	��

  
��"�� Which of the following would weigh 

the highest ? 

[1] 0.2 mole of sucrose )( 112212 OHC  

[2] 2.0 moles of 3CaCO  

[3] 2.0 moles of 2CO   

[4] 10 moles of OH2 �
 



�����������	
������������	
������������	
������������	
�������������	��
� 



 

��� ��������	��
���
�
������	����� ������������������	���	����������������
������������� ��!�����"�
�#�����	��$%���&��� ��' ��"��(�

���������������� 
)���*�����& ��' ��
����'��������#�+'�
� �&�
���������������
	�����,����	������!�����"���(�

�����������������
 �&�+	����- �&����������	���!���&����"�������)��	��
����'��������
#�+'�.�

� �
��� �������� � � �	� � 
�����	��� � ��� 
������ ������ 
��� � �	� � ����

������ ��� �
�������� �	������� ������� ������ ��
��� �
���
�	��������
����	������	����

�����������������

����
�����������������
������	��������������
������
��������
���	����

�����������������

��� �	�� ������	��� ��
�� 	��� ������� ��� ����� ��� ���
���� 
�� 
�

��	���
�������

��� �/�	� �� ����0�1�2�	�� ���� ��� �� ��#��	�� ��+� &$� '��� ����$�#'"� ��� "$� 	���.�  !	�����	��� ��	���� ��� �	��� 	���� ��� ���� ��
���

��	�������������"�����	���		������	�������
���#�

��� �!�$�
����	����$%!�
������	����"$�)��	��	���.�)����
����� ������	�)��	��	���.�
�����&����"��1��������#	�3�/�&�45 �67�	���� ��'�
���8�9�"�.� ����
�������
����	�������	�����	������$%!��������&�����	�����%
����	�������	������
���������'��������

 �����������#�����	��
��	�����	����
������
�������#�

��� ��: �	������	����+��&+�'+�%�����	5������������
�%����	5��	����+�$%!�
������	����	����+	��;���	���"$����$���"�	��������������������
���!����.�+	�����
����)��	��	����	����&�
����&����"$��#���	���"�.� $���	�������	���
�����
�������	���
���
�����	���	����	���

������� �	�� �����	���
���	���
���
������ ��� �	�����
��������	����������������
����
���(	����(���	�� ����$%!��������

&����������
������	�����
���������	��
��	�����	������
�����#�

����)! <�$���1����%��	���� �	����
������	�	������6=����#�+�+���
�����	�����)> �����������'�+?.�)! <�$��)����)�1@���	�
������	�����
����������2<����	��)����A��)> ����������.� �����
����
������	�������������
�������������&���������	���	������)	��	���
���


������
���
���	�������������&������)	��	���������	���!	���*	��
��������������+����� �������������������
����������

�������&�����#�

���� ����0�1�2�	��+���
������	�	��� ������	��� ��'�	���
�A ����	��	�$�!�$�����2<��������3����0�1�2�	��+���
������	�	��@���	������!�>����	$��2<����
	���B��6=	�7�&���$�&���$�&���$�&���$����������������������1�1�1�1�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$�2�	������
��C����"$��	������#�+'$.� ,
����� ����"�����	���		�����
����������&�����������
����
��

�������	���������
�����  �+����� �	���������
���� ���"�����	���		�����
����������&�����&���
��*	�#��	
��
����������

�������
��������������
���������������#�

���� ����0�1�2�	�D
������	������&+�'+�@���	�	���)! <�$���"$���$	�����"2��E���%��������������.� �����
����
������	���������������	������

*������
���������������"�����	���		����-�������&������������&���
�����.�
���#�

����)! <�$��	�����$E���"���D	E����������������)�����"%������	��)����A���	�$���	���	$���FG 0���'�$
��1�&��� ��"2��������	�'#�	$���%� �?
�
��#�
���������/���
����A�H����	�
�	���� ���	�$�)> ���	���	$����'�$�	������#���� ��
� ��'�	����	$�)�1�����"$��"�.� .
����
����
���

�	��
��	�����	��
����
�����+��
���
����
�����������	����������������	���
�������
������	�������	����������	�����������	��


���	������
����
���+���������������.
���
������������.
���������������+
���
��	���
��-�		��#�

���� � ���E�	�*������B��#���������: �	�)! <�$��)�����������	�6��3�������I7�)�����"%�������&���+?.� /
����
����
����������	��	�����
���

���-����������.
��� !	���*	�#�
�������������
����	������������
�	��#�

� �� 	�>&��)��$E�	� ��� ���E�	�	$������8��)�1����	�������	�����)! <�$��)����2<������B��6�=�.� *	��
����
��������	��������
����������	��	��

����&��������������	���������
�	�����	������
������-������
��#�

���� 	� ����� ���E�	�	���)����
������	��&+������+���"2��E���%�������&�������"2��E��� �	+������)! <�$����$E���"�����"$��B��6�=�'�.� �&��	�$�
)! <�$�����&���$�����"2��E���%�������"2��E����"$���	+����� "������#�+'���	�
����
������	��"$������� ��"��)���� "�)�1�%��������	��
�����������#�+'�.�!"#����
������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<�������
������	����� ����������2<��������!�$�!�$�!�$�!�$����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����)! �<�� ����*������ ���"�<��	��)�'�F��	����������������������������'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�'� ��#����"�.�)�'�F��	��)�'�F��	��)�'�F��	��)�'�F��	��
��������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 ���������'������ ��������	��� ��������#�+��	�2 �"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�"$��"$����������"$��'����#�+�)<����G�2 �"$�	$�������������"1��)���	�"�������"$�
�"1�� 	�.��"1�� 	�.��"1�� 	�.��"1�� 	�.�  ���� �
����
���� ��	���� �	�� ��
��� ���� /+
���
��	�� ,
��� ����	��� �
������ 	���� ������ ������� &����� �	� ����

�������
�	��	�������
���������������&���
�����.�
����������.
����������
��
����
����
���	�������������&���
�����.�
���

���	������������������������	���	��
����
�����	���������������&�����
�����
��������
��
�����
�����
����
����$���

%	
���	����
	��� ���	���&������
	
�� �
�'���'�������
��
� �
��!"#�	
������
����	�� �
����	%�����%�������
�%
�

�
���������������(��
����������
�(��
�����
���������
���������
��������������
�
	�����#�

���� ���A�H����	D"2�%��������	�	�	��
� ��'���#���"�.� 0���	��/�����	���-%
��
��.
����
�	�������	��������#�

���� ��$E���"��������)�%����	����+
�)! <�$���������	������&$�'������@ �D�&���0��&����������6��	���!�$��� �����+������� �����	�������8��� ��������.�)�1�%��
��������� 	�� �!�$� �������� 	�� /����� ���6�� 	�� �� ����� +��� ���� ����� 	�� )�1���� "��'�.�  ���� �
����
���� 
��� �	������� ���

1���������-(�	������� ������ ��� ���� ���	��
��	�� ���������� 
��� !����� 
��� !����
��	��� 	�� ���� �	
��� ����� ���
��� �	� ������

�	�������������/+
���
��	��,
���������
����	�����
�����
�������������
��������
������!�����
���!����
��	���	�������	
���#�

���� �	�$�"������������0�1�2�	��)����
������	�	��	�����!��'�)�'���	���.� *	��
���	������"�����	���		�����
����������&�������
���

������
�����������
�����������
�����#�

���� ��$E����,�>��"�������
�)! <�$��	E�D"����B��6=�����������
������	�	E�0� ���E�	�	���)�� �������&��.�)! <�$��)������<���������0�1�2�	��	������
#�� �	��� "��.�  $�� �	������	�� 	�� ���� ������ ���� �
����
��� ����� �
��� 	���� ���� ������� &����� �	� ���� �������
�	�� ��� ����

!		�-,
���������
����
����
���
��	�����	��
���
�
�������"�����	���		���������������#�
 

����


	811-A.pdf
	ROUGH WORK2.pdf
	811-A_1-30.pdf
	811-A_31-45.pdf
	811-A_46-60.pdf
	811-A_61-90.pdf
	811-A_91-150.pdf
	ROUGH WORK1.pdf
	BACK COVER.pdf

